Mr. Ulrich
AP Biology

Cell Biology Practice Questions
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. Sorry. That’s a typo. It should read “Apoptosis is caused...” The answer is A
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Yeah. A bit familiar.
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. C Another typo. That should read “proteolytic”
. B or C Take your pick. They’re both the same.
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Again. A bit repetitive. Important? Maybe?
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We didn’t cover this concept...yet. It’s important to transgenic bioengineering.
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Again. We didn’t cover this structure with this much specificity...yet.
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Hope that helps. I'll answer some questions in class. Feel free to email me your questions or
concerns (kulrich@newpaltz.k12.ny.us)



